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Instructions : | |

(i)  All questions are gnmpulsnfy.

(ii) Question Nos. 1 to 5 are objective type questions. -

(iii) Initernal options are given in Question Numbers 6 to 26.

(iv) Draw neat and clean labelled diagram whenever required.
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1w few gt fife 1%5=5

(i) W FEE ax+by+c =0 TW ax+byy+cy =0 &
& AfEdE e v oAl -
© %‘;bﬁz—*:z—'z @ T A B

() TR 2x° +3x° +.4x'+5- & e A afmaw e @ -
(@ 3 | (b) 4
© 2 @ s

(iii) Arithmetic Progression 12, 7, 2, -3 H ST & -
(@ 5 (bjl =5
(© 12 o | . 7

(v) o foam whEw ax®+hx+c=0 w1 R @ AW 9 b,
@ T e & - ' -
@ J = acfm w2 ¥
b) B TR TR W oA
(c) " ® atad @ T e ¥
@ T ¥ T W@

(V) TF ga o afusan fea wy vad @ wad ¥ 2
(@) T& - (b) =
) = @ ouRPa w9 & v
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«"  Choose the correct option and write it :

(@ The system of equation ax+by+c;=0 and ayx+byy+cy =0 has a unique
solution if — '

a.h - a b a
® %7 by . ® %7h o
(©) ﬂ-‘--bl;c—l (d) None of these

a b o

(ii) | Maximum number of zeroes in polynomial 2x° +3x% +4x+5 will be —
(@) .3 | (b) 4
© 2 | @ 5

(iii) For the Arithme}ic Progression 12, 7, 2, -3,....... | tﬁe common difference is —
@ 5 ) =S

| = 0.
© 12 @ 7 - =

(iv) The discriminant of the quadratic equation ax2'+bx+c=0 is zero,

then a quadratic equation has

(a) two- distinct real roots.

(b) two equal real roots.

(c)- no real roots.

.(d) None of these.

- (v) How many rflaximum tangents can a circle ha;ure ?
(a) | bne (b) Two

(¢) Zero ' - (d) Infinitely many
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2 P wel A gRi B e . Lag
() @ ww W gm . wm ¥
i) w19 s - g ‘BT o wf - 4
(iii)ﬁﬁé#fhumwﬁmwﬂsmhmz}mﬂm T B A g
(iv) ¥ wgfy & & momt @ e B,
IWMEE e 27
(v) @ @ o ¥

A in the blanks

(i) The sum of (wo polynomjal is :
(ii) * Probability of an event k- Probability of the cvent 'not E' =
(i) Any quadratic equation @ have almost roots.

(iv) The relationship betweeh_the three measures of central 1endency Is
3 Median = .+ 2 Mean
(v) All squares are

(s/'ﬁwﬁaﬁga ¥ gw | o fafag 1x5=5
() 5 & omftim wew |
(i) e fag @ feet g9 OO T G st Yawel @ darat e e X
(iii) 2, 4, 8, 16,..... T& Wiax 9 ¥
(iv) &% B oifw ¥ Yo IR T Ty F Rz @ P
N WS T g % R e tar gfte T
v) %P(x,y]ﬁ%ﬁgﬁ{& Xt +y% @ ¥
L/V(rite True/False in the following :
() 5 is irrational numbef,

(11) The length of the two taGgents from an external point to a circle are equal..
(i) 2, 4,8, 16,...... is an Atithmetic Progtession.

(iv) T'he line drawn from the eye of an observer to the point in the object
viewed by the observer is called the line of sight.

(v)  The distance of a point P (x,¥) from the origin is [y +y?% .
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F'W .:\' 'Ri“ B
(l) sin Q° (n) sec’ @
() 1aneo° (b) |
‘ou S | g l
(i) sin“@+cos-0 (c) 2
(iv) cos60° (dy 0
() 1+tan26 © 3
1
() »
Match the correct column :
Column 'A' Colitmn 'B’
@)  sing° (a) sec’d
(1)  tan60° (b 1
(iii) sinZ@+cosZ0 ©) ;%
(iv) cos60° @ 0
) 1+tan?0 © 3
1
(H N

s -
5 /9% & 1% 9= | 9w ¥ 3w Retaw

@) ﬁmrmﬁw%mm@%ﬂgqt

(i) 4 x+y=35 gm x=1 &, & y & o= T g
(iii) maaimiﬁrqa%ﬁgql

(iv) mm%mwm@ﬁrﬂm

(v) 99 & Pruavs @ aftwmr fafla).

Write the answer in one word/sentence of each

(i) Write the area of a circle whose radius is -

(if) If x+y=5 and x=1, then find the value of ¥.

(ili) Write the formula of volume of a sphere.

(iv) “Write the formula of Mode for grouped data.

(v) Write the definition of a sector of the circle.
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i i tors.
Express number 140 as a product of its prime facto
s

s | OR

Tl
ms,gmzsmmmﬁf&ﬁxﬁm.m.m

. tents d.
Find the L.CM. of 8, 9 and 25 using the prime factorisation metho

: : hHIT- 2
:/ s Row wpe wa sk, fred R & A w P
32 ¥
Find a quadratic polynomial, the sum and product of whose zeroes are —3 and 2
respectively.
Fya /| OR

R wgae p(x) & g y=p(x) &1 7% I ol & R ¥ p(x) &

FAE B EE T BT -

The graphs of y=p(x) are given in figure below for some polynomials p(x).

Find the number of zeroes of p(x).
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SIA%‘“T 2,3) ot @ 1) F dw & gh Ta DAY
/ Find the distance between the points (2, 3) and (4, 1).
sy /| OR

ARG A(xy,p) R B(xg.y,) B W TR Yer@wE ABH min F
IO ¥ ofafles ww @ Rfa & 9@ fig p(x, y) & Feas fafeg)

Write the coordinates of the point p(x, y) which divides the line segment

AB joining the points A(xj, ;) and B(xy, ), intemally in the ratio m:n.

9 gwow & ww aw ww b P o ool Pt o ot ¥ 2

U

5@ U A E A G o ¥A WG 8 @ A wa S

A][B][c][D][El[A

A child has a die whose six faces show the letters as given below :

AEEDEA

Y

This die is thrown once. Find the probability of getting A.

yvar /| OR

ﬁﬁm@maﬁrism%ﬁ'ﬂwwﬁam%:mmﬂaﬁhﬁﬁm
0.62 %1 g % Ha WA @I WiAwA T B

Two players Sangeeta and Reshma play a tennis match, The probability of Sangeeta
winning the match is 0.62. Find the probability of Reshma winning the match.
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A
wiRreaT W AR e ue Tdr O FE it
l-shuffled deck of 52 cards. Calculate the probability

One card is drawn from a wel
that the card will be an ace.
syt | OR
@aﬁﬁ3%,2mm4wﬁ%|uﬁwaﬁﬁﬁwwm

Proren wTeT ¥, @ S@ wHE b @ @ wwAr S S

A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at

random from the box, find the probability that the marble will be white.

)/qﬁamﬂﬁrq

sin 60°cos 30" +sin30°cos 60°
Evaluaté :

sin 60°cos30°+siﬁ30° c0s 60°

3Yar /| OR

_ 4 o, . '
g ‘[.5.1,11,4:;r dr sind &R cqu T Bifg |

| s -
If tan 4 =-§-, then calculate SInA4 and cosA.

e R -8 TR MR | P.T.O.



2 B A3, 10) ol 56, ) @ sy o o @ Pg 1O
s ® foenfve wwn &, Fifig)
Find the ratio in which the [ine sepment joining the points A (- 3. 10) and
- tH
B (6, —8) divided by point (-1, 6). |
_ ¥ [ OR
R 0 0, 1) Rigahl P (5, - 3) ol Ry, 6) & wgmer &, A x F A A9 RN
If Q (EJ, 1) is equidistant from P (5, -3) and R (x, 6). Find the values of x-

e ag”ﬁ'w‘mﬁﬁﬁﬁw@ﬁnﬁwmﬁa&mﬁm
o ¥
Prove that the length of tangents 'drawn from an external point to 2 circle

are equal.

: . ¥y [ OR
@ﬁ'@Q@r@qawmf‘(mﬁraimémﬁrwﬁggaﬁ?ﬁ@@
25 ¥ ¥ g W T T AT https://www.mpboardon'line.com
From a point O, the length of the¢tangent to a circle is 24 cm and the distance

of O from the centre is 25 cm. Pind the radius of the circle.

Wﬁwwwﬁ%m@mmm-ﬁm,ﬁmﬂwm%| 3
(n=3.14 WY

Find the area of the sector of a circle with radius 6 cm and angle is 60°.
(Taking n=3.14)
| _ g | OR

2 gt o P s 8 W o B ¥ 5w g A B Ay e
maﬂﬁqﬁraﬁm%m%m% |

The radii of two circles are 8 ¢cm and 6 cm respectively. Find the radius of

the circle having area equal to the sum of the areas of the two circles.
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Prove that 1,5 IS a irrational number.

s | OR

T R ofvar fed warsd B Prefifea oftg densll & asmea weR
wid ¥ W smiE omad ¥

136
M 3125 W T3

Without actually performing the long division. state whether the following rational

numbers will have a terminating decimal expansion or a non-terminating repeating
decimal expansion :

g3 6
Y 325 O 15

/lygmaagtm x2+7x+10%wm$“rﬁrqé?nqaﬁmguﬁﬁ%é’ﬁ% 1

4T B B A B

Find the zeroes of the quadratic polynomial x% +7x+ 10 and verify the relationship
between the zeroes and the coefficients. )
¥ [ OR

agqaxksﬁsammasrmmam@nm%&m%mﬁ

~

I B FAd R

Find the zeroes of the polynomial xZ -3 and verify the relationship between
the zcroes and the coefficients.
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Solve th : :
¢ following pair of linear equation by the elimination method :

3x+dy =10
21‘-—23}:2'
| s /| OR
Ww%ﬁﬁw%ﬂw%waﬁmﬁﬁm:
x+y=14
x—=y=4

Solve the following pair of linear equation by the substitution method :

x+y=14

x—y=4
87T 2 _3:_10=0 % 79 W . 4
Wﬁﬁ:ﬁﬁwaﬁww:: x -q\a Hifg |

Find the roots of the quadfatic equation x*-3x-10=0 by factorization method.

7~

m-{ OR
Brerey AETT 2% —4x+3=0 @1 Rt T BRI 3l 39 g6 B i
wm A

Find the discriminant of the quadratic equation 2y 2 ~4x+3=0 and hence

“find the nature of its roots.

501/ M-213 | 11 IWHNE wRR | P.T.O.



p\ g e g A, o ke 3 e Rl & 30 v ol e d, M by fiyggy,
i FFRE T 300§ e A S s Wi

o-angle of elevation ol the top ol a tower from o point on (5 ground, whicl,
<

is 30 meters away from the foot of the tower, is 30% Tind the helght of (he

tower,

gt /| OR
\iﬁr@fﬁuﬁlau?r%wéwwmwrﬂ%lmmﬂwﬁﬁ&m}emmﬂ
¥ uft ¥ ww Ny ¥ iy R &) qf & owny €8 w g wmer 600 %)
o5 w5 o § @ dw Tl ¥, S o e s g

A kite is flying at a height of 60 meters above the ground, The string attached

'to the kite is temporarily tied to a point on the ground, The~inclination angle

of the string with the ground is 60° Find the length of the string, assuming
that there is no slack in the string. -

\‘//(@@amtﬁaﬂwwwﬁaﬁg%ﬁswﬁwmmRﬁ
. 25 0T W g W ¥ qw g@w wuh R ufy ¥ 6 A B S wx
U Tl T WA ¥ W B dad w g
/ adder is placed against a wall such that its foot is at a distance of

2.5 meters from the wall and its tdp reaches a window 6 raaters above the
ground. Find the length of the ladder.

dyar /| OR
I Wi ol wmuTiRE W w1 we Rhaw)

State Thales theorem and Pythagoras theoren.
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Fr Wﬁﬁmwwmmﬁm.uﬁhowﬁaﬁﬂ
goi @ Brewd wuer 7 @ ST 14 W F e ZAOC =40° ¥

Find the area of the shaded region in given figure if radii of the two concentric
circles with centré @ are 7 cm and 14 cm respectively and £40C =40°.
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@ st wl Rl o 3 R 2w i
How many two digit numbers are divisiblo by 3 ? Find,
yymr /| OR
){#A.n & gt wr oy R, Rrgmr tal w38 ¥ ol 16at w73 ¥

Find the 318 term of an AP, whose 1% term is 38 and the 16" term is 73.

27 firg A
V//" 1 +sin 4

1-sin 4

=sccA+tan 4

Prove that :
! JHSTD‘A =sec A +tan 4
i 1-sinA4

firg @Y - J.r

(sin 4+ cosec 4)* +(cos A+sec A’ =7+ tan? 4+ cot? 4

s | OR

Prove that :

(sinA+ v::n:asf:c;fi)2 +{cos A+sec A)2 =7 +tan® A+ cot 4

ymﬁﬁrﬁww%@mﬁﬁqaﬁwsﬁswmﬁﬁmﬁam| 5
' ~ Draw a line segment of length 7.6 cm and divide it in the ratio 5: 8.
: _ . sy /| OR
3 %W v @1 0@ 99 Wit ot sak ¥ ¥ 5 W 3 Ruw ww fig @
79 W Wy Y@ g B g -
- Draw a circle of radius 3 cm. From a point 5 cm away from its cgﬁtre,
' construct the pair of tangents to the circle. ‘
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‘Ifﬁama-q
T
A W ) xRy @ R S |

Mefalhc S
PhCI'LS of radii 6 e Vmc ed to
r
radn 6 cm, 8 cm lll]{l 10 CI'I'l rc.:,pcclwblfr' ar It '

form
a single
'?Glld 5
phere. Tind the radius of the resulting sphere.

s [ OR

B 40 g
N A Uy F g A @y R B ¢ & aw o A
O I ¥ Aww A A s B!

A metallic '
g h - .
phere of radius 4.2 cm is melted and recast into the shape of

a cylinde : '
r of radius 6 cm. Find the height of the cylinder.
»g;/ ﬁrt:'-ri%ﬁta?r
mﬁaﬁm%ﬁﬁaﬁmﬁ(ﬂﬁﬁjﬁ@q'ﬁ% >

| x;$J’
y e -
A (i) [ 020 | 20-40 | 40-60 | 60-80

20-100 | 100-120

52 61 38 29

IO ' 10 35

an?bﬂﬁ H D e S aﬁﬁn@f

The following data give the information on the observed life times (in hours)

of electrical components :

020 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120

Life time (in hours)
D

10 35 52 61 38 29

Frequency

|

life times of the components.

Determine the mode
sy [ OR
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Prefrfas wreoh Rl et & 25 wRardl ¥ Wi W gU & T e qakty
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Ao =T (e §)

100150

150-200

200-250

250-300

300-350

—

qfE & 9Em

5

12

WIS 9T gom Wy v =@ @ sl

The table below shows the daily expenditure on food of 25 households in a locality :

Daily expenditure 100-150 | 150-200 | 200-250 | 250-300 | 300-350
(in Rs.)
Number of ho.useholds 4 5 12 2 2

Find the mean daily expenditure on food.
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